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— 7991 R 177 RAYY INR
What is the reason? His hand is not at rest

OVERVIEW

"21 resolved s'27 query and ruled that 1913 n7°pY is "7 yon npya.! This cannot be
compared to the hand of the "1 which extends into the 717 mwn and the 2"nva
places something in this hand and the °1¥ removes it to the 3"77 (and it is not
considered an 77°pY). The difference is that the extended hand is not at rest in the
*"177. There are other texts which read X793 1913 702 17°; the hand is drawn towards
the body. There is a dispute between *"w1 and nvOIN as to the correct reading of
the text, and its implications.

— D937 29NN WY PNYY 195399 ANI)

The "' prefers the text of the 9nX WY which reads -
— 49y 'ya XY 199 3099y r¥a XY99) 191) INaT 1T

‘The hand which is drawn towards the body requires an ;79°py; however the

body does not require an 77°5pY°.
— 59592999 N7 DIYN 1399NT PN 13529 YIDM NI ND 179 912 D)7 INND

And the "9 explains furthermore that even according to the texts which read
o1 8% 177 (his hand is not at rest) and therefore an 77°py is required; the reason is
because 9573 193 9n3; the hand is drawn to the body.

maon cites s™"wA different interpretation of the X7na:
— VPP 232X DY NI KD 1T W9 »7YY)

And "2 explained 11°°1 X% 177 to mean that it did not rest on the ground.

"' In order for there to be a proper 7Py from a mMmwn, it is not necessary that the item be removed from its
(immediate) resting place (the body) as one side of the query would have it, but rather if the item is removed (from
the mw) still attached to its resting place (101) it is still a valid 77°py. See footnote # 10.

2 See X"9 1"7 >"wA (bottom of Tay).

3 The hand (of the "1v) which is extended to the *"77 is drawn after the body (which is in the 2"77), therefore when
the 2"7v2 places an item into the s"1v hand and the "1 removes it, we do not consider that there was an 77°p¥ (in the
°"7M), since 17° (which is in the °"777) is 101 N2 7°73 (which is in the 2"77). In order for the *1v to be 211 for X% he
must make an 7Py from a fixed place in the *"77 (either the ypap of the *"im or the hand of the 2"nva who is in the
).

4 When an item is resting on a person’s body, it is sufficient that the person merely leave this mwa (for it to be
considered an 77°pY) and stop in the other mw~ (for a 7m17). There is no need for a specific 77"y, to pick up the item
from the mwn where he is. The 77°py of the body is the equivalent of the yam 77°py.

3 See ‘Thinking it over # 2.

691 (A" 7).
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It seems from *"w"5 that even if the person was together with his hand in one
mw9 and his friend placed something into his hand and the recipient carried it
out, he will be "2, since 17 (which is not 1™3) requires a specific 7Py,

mooIn disagrees:
— 7290 NOXIN 172 DY 1929905 DY 192 99%30 13930 NY 123¥ Y937 NI )N)

And this is not the view of N0, for in whichever manner his friend loaded
him, whether on his shoulder or on his hand and he carried it out he is 2%7.

mooIn proves that he is 217 even if the item was placed on his hand:
— 291 NO¥INY NINN HVIV IN NINP NNY

For our mwmn teaches; ‘or if the °1v took it from the hand of the 2"1v2 and took it

out, the *1v is 2991. This concludes the citation from our 7awn -
— 5NN NXMNN HNNX MY 1719 NINY 5221 J¥a 193 Y9N NNIN NN

It is evident from our 771wn that an object which is resting in the hand of the

2'"7ya, while he and his hand are in one N, is considered at rest; this is evident -
— 99210 DY 1 IPYY YN AN

Since the "1y who removed the item from the 2'77v2 hand is 2%7; if the object
would not be at rest 2"17v2 7°2, then the *1v did not make a proper 7Py -

10900 BYPHN 1IPIY 590 1152Y DT OY 19N IPIPY NNIN KMNAT 1)
So therefore, since the item is considered at rest when the 2"1v2 and his hand are
nnx Mwn3, it follows that when he moves his body together with whatever is in

his hand, he is removing it from its resting place and it is considered a proper 7Py,
which would make him 211 if he was XX this item (which is 17°2) to another mw".

SUMMARY
The distinction between 191 1Py and our 71w» where 2°Mwd o7°1w is (according to

7 See ‘Thinking it over’ # 3.

8 See ‘Thinking it over’ # 1.

% To be considered a proper 7Py, the item must be at rest prior to the 77py. See X713 later (X,7) regarding removing
water from a sloping wall, that it is not an 77°p¥, since m1 82 X, the water is not at rest.

10'We cannot use this logic (that since the item is 2"7v2 772 M, therefore an 17 (1933) NPV is a valid A1°pY) to prove
that 191 NPy is a valid 7Py (see ®"wann), for that is the query; even assuming that an item on a person is n1n
nevertheless it may not be considered a proper n7°py unless the item is removed from its resting place. However
once we established that »»7 yor n7°py2 1013 NPy (that it is not necessary to remove the item from its resting place; it
is sufficient that the item be moved together with its resting place), then once we determine that the item is at rest
17°2, then moving the item together with 17 is the equivalent of moving the item together with 1913 and in both cases
it is a proper 77°pY (see 0"7n). See footnote # 1.
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MooIn understanding of "wA) that 1913 is resting on the ground while 17° 1s not. The
implication of this (according to M0N0 understanding of >"w") is that if one placed
an item in his friend’s hand (when 1711913 are X Mw12) and he was XX the item
he is Mw».

According to maon the distinction is that the hand which is extended in another
MW cannot be considered at rest in that MW since 773 191 702 17°; however if the
hand is in the same MW" then it is considered at rest as evident from our 71wn that
there is a 2117 if the item was taken from the hand.

THINKING IT OVER

1. mBoIn proves that an item which is 17°2 when 17 193 are in one MWI 1is
considered nm from the case of X°X¥71 101N» 0w WX he is 21 (setting up his
refutation of >"wM).!! Seemingly mo01n could have proven it simply from the case
of 211 2"nwa HWw 170 TIN% N1 01 "1wn vwo; proving that the item is at rest 2"7va 7102
when nnx Mw2 17 K11

2. According to ndoN is the reason he is MWD by NN MWI? TVIWDT 17> because
(since 7" 191 702 17°) his hand is not considered n11 at all, or because his hand is
not considered (n1n) in that mwn?'3

3. What would the ruling be if an object was placed 172 (and nAR MWD 17 XI7)
and he transferred the object to another w1 making a 7r17, but using only 17°; his
body remained in the original mwA.'* Is this Y7 nvpy (without 1D N°PY)
considered an 77°pY or not?!?

1 See footnote # 8.

12 See o now pnn.

13 [Can this depend on the two NMXo73? See footnote # 5.]
14 See footnote # 7.

15 See w"R".
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